Cnuntinq’, in 10 Ch,a“zn,c&z/s

There are |10 buttznﬂizﬁ in a Qroup. How manky buttzr,ﬂizzs are here?
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Ellie thinks that there are now 3| buttzrﬂizzs. Is Ellie correct?

True or false?

7b. There are 10 jewels in each box.

There are 40 jewels altogether.

In a shop, grapes come in bunches of 10
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Max wants to buy forty grapes.

Are there enough grapes?

Eva and Whitney are making equal
groups of bread rolls.

Eva
A" We need one more
ofe
<~ group to make 40
We need 10 more
[ rolls to make 40 L GG.).
Whitney

Who do you agree with? Explain why.




